pr(jet) ) pr(jet) (e
[GeV] [pb GeV 1] [GeV] [pb GeV 1]
pr(by)
30-50 0.913 &+ 0.004 + 0.052 100-150 0.206 = 0.001 =+ 0.011
50-75 0.748 + 0.003 =+ 0.040 150-200 0.0643 &+ 0.0006 =+ 0.0036
75-100 0.466 + 0.002 + 0.026 200-350 (9.53+ 0.13 =4+ 0.59) x 103
pr(by)
30-50 0.858 + 0.004 + 0.045 100-150 0.211 &+ 0.001 =+ 0.013
50-75 0.771 &= 0.003 =+ 0.040 150-200 0.0640 = 0.0006 =+ 0.0041
75-100 0.491 + 0.002 =+ 0.029 200-350 0.01103 £ 0.00015 = 0.00075
pr(jwi)
30-50 0.861 &= 0.004 =+ 0.042 100-150 0.213 &+ 0.001 =+ 0.012
50-75 0.864 += 0.003 =+ 0.047 150-200 0.0663 = 0.0007 =+ 0.0040
75-100 0.506 &= 0.003 + 0.029 200-350 0.01270 £ 0.00018 £ 0.00085
pr(jw2)
30-50 1.730 £ 0.004 =+ 0.090 75-100 0.1223 + 0.0012 + 0.0077
50-75 0.443 + 0.002 + 0.028 100-250 0.01019 £ 0.00017 £ 0.00071
pr(j1)
30-50 0.410 &+ 0.002 + 0.029 150-175 0.0613 = 0.0007 =+ 0.0041
50-75 0.253 &+ 0.002 + 0.019 175-200 0.0432 + 0.0006 =+ 0.0029
75-100 0.174 + 0.001 £ 0.012 200-250 0.0286 = 0.0004 =+ 0.0019
100-125 0.1207 &= 0.0011 =+ 0.0089 250-320 0.0145 + 0.0002 =+ 0.0010
125-150 0.0840 = 0.0009 % 0.0056 320-500 4.71+ 0.07 40.29) x 1073
p1(j2)
30-50 0.246 &+ 0.002 + 0.022 125-150 0.0138 &= 0.0003 =+ 0.0014
50-75 0.103 &= 0.001 =+ 0.011 150-180 754+ 026 =40.74) x 103
75-100 0.0501 =+ 0.0007 & 0.0052 180-350 1.5+ 0.05 =4+0.17) x 103
100-125 0.0258 & 0.0005 £ 0.0029 —
pr(ja)
30-50 0.097 £ 0.001 +0.011 75-100 (100+ 03 =£1.6) x1073
50-75 0.0290 £ 0.0005 =+ 0.0041 100-250 (1.35+ 0.05 40.19) x 103
pr(ja)
30-50 0.0307 £ 0.0006 =+ 0.0046 75-100 (1.75+ 0.11 40.37) x 103
50-75 6.7+ 02 +1.2) x1073 100-200 (2.64+ 026 = 0.58) x 104



